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Homework

Topics: Exteriof angle theorem, interior and exterior angles of polygons

1) Ifthe measures of the angles in a triangle are inthe | 6)  Given: In APQR, PQ = QR.
ratio 3:4:5, the measure of an exterior angle of the @
triangle ¢cannot be Ifm/P =70°, what is m/ Q? ,
@& 165° C) 105° & 2° ) 70°
By 135° B) 35° D) 55° /o fo
IxaHAr DX 180 X+701 107180 K
2180 A+ H0O= 180
XD X =t
2)  Anexterior angle at the base of an isosceles triancle Questions 7 and 8 refer to the following:
measures 110°. What is the measure of the vertex
angle? In the figure below, AB = BC.,
A) 110° & i°
N B) 70° D) 55° B
p
%k Xt JO+ 107180
110/ XHUO= EOC
X0 A c D
3}  Inisosceles triangle ABC, AB = BC and
msB = 90°. What is the measure of an exterior
angle at vertex C? N
A) 90° @ 135° '7)  IfmZABC =80°, what S%Aﬁ?:'b“/\ b
D B) 30° D) 45° IBOIDD 4y 1000 C) 80°
© X+ X+ Q0+ 180 B) 50° @ 130°
: 2X +907 (80 > 2X=49C - OV
A Al -GG - f 2 ZXL‘S X'!’X*&C)*\%
4)  Iftwo angles ofa triangle measure 43° and 48°, 22& i(l[l X550
)
the triangle is 8)  Ifm<BCD = £30°,%hat is me ABC?
A) obtuse C) rlght ‘,/"2 80° 100°
acute D) isosceles ) 50° D) 1300 '2)0
xwlasq& 126 7
A\ 9= 120 e A= S A Tt S S e
X8G9 X XHeoen
If the measures o the three angles of a Igangle ate | o o . _"L-*C)th_l(il X=E0
represented by ¥ ° . (2x -%O) and (3x - 0)° , ) t(l'ial;his ’ 4; ’ a1;d iganregre;entl © measures of
then the trianele is e three angles of'a gle? [Explain.)
A) equilateral 0 obtuse L_ ~ -
B} right D) isosceles ®6+ 6 + 6( i%
190 A7E0
X+ 2X-201 2X-107 180 NO
EX-20° 80
120 20

X35




Questions 10 and 11 refer to the following: |
B

50°

10) Ifm&l=350° and me2 =70°, find m/C.

X4 DO 10 B0
X41207180
~12C 120
Xz 0O
COrea0 Y £07 (&0
Zc10)
-0 Q.
120 2O

11) msl=45° and me2=65° , Iind mZC.
A0
12) Inthe accompanying diagram of AABC, AC is

C

i xHo‘:BMS IS @)
7o+5o+zi(, \eo

X+ LO* ¢&O
4,(- 1201 <C7 80

extended to D, DEF, BEC, AFB, m£B = 50°,

m/BFF =25°, and mZACB=65°.
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13)  Find the measure of the numbered angles in the
diagram below.

o A X 18D 25+ |51 L4180
50#2@0(: 0 O+ 24 =\&0
-5 > 4G ~40
D [£4-40]
r:é-*é?ﬂ ?D DD 457180
1S “{jem . ‘ 7
- -1 i25“7 45: |
|‘Z"(05| ~125 ~-1§%

s 55
2| 23715 LAJ\—-

14) Inthe accompanymg diagram of AADB, DCB
CD = CA, and m£ACB = 130°.

Find meD.
X+ X4 5O 180
2X4 DO“ ‘@@

;z.&,@c_z
2 2

15) What is the sum of the measures of the interior

angles of a pentagon?
A) 7200 VD @ s40°
B) 360° D) 270°
80002
io>-2)

EO(3)
O




16) What is the sum of the measures of the interior
angles of a octagon?
A) 900°
B) 1260°

1&0(N-2)
120(6-2)
IEO0)- 1060
17) @teral triangle is a regular polygon.
UE

C) 1440°

@ 1080°

FALSE

18)  Anisosceles triangle is a regular polygon.
TRUE

19)  What is the number of degrees in the measure of
one exterior angle of a regular pentagon? M= =5

A) 108° C) 540°
B) 360° @ 7
~ e > 12

20)  Inthe accompanying diagram, ACF, AB = KE,
BCD L DE, and m£B = 50°,

E

Find mZE.
=0+ G0+ X = 180
HO X180
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21)

£2 is an exterior angle of which triangle shown?

APRS

22)  What is the number of sides of a regular polygon
whose interior angles each measure 135° 9

@ s C) 6

B) 9 D) 7
nt rext=1e0 A
‘t,i').i“_)-+ Xt =180 qacc%‘ &

A 3D asegs
23)  What type of regular polygon's interior angles each
measure 150° 7

A) decagon C) octagon
@ dodecagon D) pentadecagon
it rext = 180
501 EX1=1€0 % 12
“190 50
C/(*i“_ EDO 1 23

24)

12

1 8\5
7 ™
What are the exterior angles ofthe triangle shown?

21,43 45 477 L) LY



—

e

25) AABC is a right triangle as shown below.

If the measure of B is 12 ° less than the méasure

of ZA, find mZA.
X+ X-12+Q0 =80
ox + I 180
Ealehalie
2 2 I)K‘ 5\l

26) Intriangle PQR, m/R = 50° and an exterior angle
at Q measures 110°. What is the shortest side of
the triangle?

£ a R ® o ¢ RQ

704 BOHATNBO
O 12041 A=12.0

ATl ‘
27)  Ifthe measure of an exterior angle of a regular
polygon is 90°, then the polygon is

@ a square C) a pentagon
B) ahexagon D) anoctagon
90
28) Find the measure of the numbered angles in the
figure below.

PAEESSY

; =
e0155-125- 24| epase
20 1207 | €0 £
2541204 <17 \20

151 20 = 180
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C

A

882

2095
A D

29)

In quadrilateral ABCD, if mzA = 120 °,
m/B=82° and m£D =93°, find m2C.

X+82+12014D=20

X+ 29D = N
299 -299D

| X-65]

30) Find the sum of the measures of the exterior angles
of a hexagon.

|30

31)  Inquadrilateral ABCD, m£A = 57°, m/B = 65°.
and mZC = 118°. What is the measure of an

exterior angle at D?

BT €+ K=

240t K=
240 -2403
X=120

20+ EATL=1E0 S
32) What type of regular polyéon‘s nterior %geﬂach

measure 144°7?

A) hexagon @ decagon
B) octagon D) dodecagon
MY + Exf 27180
144 -4y é%?:&)
ext 4= Ao -




